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Lu0L{Lrfintdp

1 2 3 4 5 6 7

1 31331192 UurlnL[u Uqqq 2"2.5 q< Llbmp 72 40000 2880000

2 31331192 UulnLfu Uqqc] 2"10 q< dbmn 160 60000 9600000

3 31331192 UulnLfu Uqqc+ 2.16 q< dbmp 249 20000 4980000

tl 31331124 Uulnrfu Uqqq 4"10 q< d bLnp 329 5 20000 6590000

5 31331192 ULulnLfu Uqqq 4-16 q< tl bLnp 484.5 20000 9690000

6 4431 1 174 bt. bDurqgdLu0 l1b!mpn4 3.2 rJLl UU mnLL.l-r 3400 5 1 7000

7 44311170 f 1. bnLrLlgrILutr IlbUmnn+ 4 Lltl ur.t LnnL{r 6000 30 1 80000

B 4431117 0t1 11, bnLut1g0rutr f LbQmnnn 3.2 0Ll q< Lnnrt-|r 3400 20 68000

o 4431117012 b1. bnLuQgdr-u0 f lbLlLnpnq 4 [r) q< urnLf 51 00 100 5 1 0000

'10 441 12730 Qurpnq uluL{upr.uLt O 125 q< hruLn 300 20 6000

11 44112730 !urprrrl u!Lur{r-unu! 0 230 q< hLrur 730 BO 58400

12 441 12/30 !mpnq u!Lrr-llunLuLl 0 300 q< huu Ln 1 550 50 77500

13 441 1 1200 Sbrlb0ur 50Uq, utu.rnttnq q< ulLln[l 3200 350 1 1 20000

14 1 421 1 100 Uqu.rq 25qq, LLlurnqnq q< uluntl 21 00

15 1 421 1 100 !LuqnqLn u(trq UU UJ I JJJJ 6 80000

'16 31651400 UbQnLu[1 dLuL4rur,lhtr q< hurul 164 2500 4 1 0000

17 18141100 CurI Lln pLuLlLu0 dbnL n g a< qn uq 220 2000 440000

't tJ 44191700 UbpLlblnr Ltlt-tthq, pr)[LUt.]nq q< hLu ur 1 125 40 45000

19 44191700 Lbp !b1n t funqLLrI ru! LnurL|r LuL.1
q< hLum 750 50 37500

20 44322530 !1bdtr[11 t20-20 nnt q< hum 45 30000 1 350000

21 441 1 1 447 UL,QnLufrl Sb 20-01 a< hrum 840 500 420000

22 441 1 1447 00QnL1qu1[r0 LIhLlnLu[1 hS 30 q< hr-uur 2150 2000 4300000

23 31681700 PutdLu0dLu0 LnnLtf 20-20u0 q< hLrm 550

24 3168'1700/1 FrudLu0rl LuI mn Lqh 20-20urJ UU hLutn 4820 50 241000

25 3168170012 Ftudu.rtld Lr.r[r urnrqh 1 5. 1 5uLI UU huru.r 3620 50 181000

?.6 31 681 700 Cuciur[r rl r-u0 urn Lqh 1 0*1 0uLl q< hrurr 300

31681 7',00/3 PurdLU0dLutr LnnLqh 1 O-1 0ut) uu hLum 2420 100 242000

2B 44322534 (uuqnp4rupupfl 0frLugdLu[ lgnp4 16 rlLl lmp{Lrdpfr ut.l hutn 150 250 37500

44322.534 (ur1np4u1Lup[r dftLugLlLutr L1gnp4 25 r.1d tlurpt{urdpI UU l.ruuu.r 180 250 45000

3{) 441631 1 1 h..rnqn{LuL1 O 40 cl< rI tru'rp 390 2000 780000

31 441631 1 1 lunqn{Lu! qn$nb O 16 tJu 0timp 90 300 2700Q

ffi^



32 441631 11 lunrlnL[uL1 qngptr O 32 q< 0burp 180 1 500 270000

33 441631 1 1 untnqLuq qngnti O 50 q<
LI bLrp 353 1 500 529500

34 441 1 1 430 Ubptl 0[Lnpn /dnfunLuqnLt0/ q<
Uq 1 300 500 650000

35 4483 1 500 Ln Ld[i q<
thLnn 850 250 212500

36 3'1 6821 00 JquhnL{[1[ LlLr0qtru! f npp q< hLrLn 100

37 31221190 ?nqup!fri 160U q< huLn 65850 60 395 1 000

38 31221190 Enqtrp![1 95U q< hLuLn 15250 BO 1220000
QO 31221 190t1 fan[LupLlfrl 95U q.< hum 15100 60 906000

40 31221 190 Enqup![1 63U c< hruur 12250 80 980000

41 31221190t2 EnqLupQfrl 63U q< huLn 12100 60 726000
42 3121 1 180 UL{urnr.luLn lOOU / bnLr.r$Llq / q< hLutn 11900 50 595000

43 31211180 U{LnnLILuLn 63U / bnLuguq / q< hurr.n 2990 10 29900

44 31211 180 UL.[urndLuLn 63U q< huurn 750 20 1 5000

45 31211180 UL{unnLIuLn 25U q< hr-uur ooo bb / 600 400000
46 3121 1340 ! ntr mLuQmnp[r lqnd /r"hnpp/ q< hLum 6750 100 67s000

47 31682100 UL{mnIuLn[ hb0p q< hLuLn 740 30 22200

4il 31221 160 dr-udLutrnrLlI nb1t: q< hurLn 5333.33 15 80000
49 31521280 Ludq 60 LlLn q< huur 100 500 50000

50 31531300 LLrdq tU1 20 {Ln q< huLn I 040 1 500 1 560000

51 31531300 LUr) SIluLIb0Lnuu;[0 lLrr.lq 6 {Ln UU hLrur 3240 300 972000

52 31531730 Inruur.nnL LUr] 30 L{Ln q< huLn 4000

53 31531730 LnLuuurnL tUrl 40 {Ln PU hLrtn 8300

54 31531730 LnLuur.nnL LUri 50 Llm PU hLurn 1 8950 7650 1 44967500

55 31 531 730 LnLuurLnnL LUrl B0 {Ln OU hLrin 20000 1 000 20000000
56 31 53'1 730 Inruur.nnr LUr] 100 L-[ur CU huLn 3000

57 31531730 LnLuurmnr LUr) 150 L{Ln EU huLn '1000

5B 31 5'1 2360 LnLuupdruLl LED 2O L{Llmn gpL{rud 1nL1un{ q< hLurn 100

59 31512360 LnrulupdLrQ LED 1O r{LumLn gpLlLud lnrlunQ q< hruu.r 200
60 31221 160 GSM L{Lrp4Lut1 q< hLum 54700 120 6564000
ot 31682110 UbLnLuquu!uutr LupQrl q< hurr 51000 10 5 1 0000
62 31682110t1 LIbmuqullLutr up!r1 UU huLl 5'1000 5 255000
63 31682110t2 UbLnuurlullLutr up t1r1, /hbpri t]LnhLl/ q< hr"uu.r 10

64 44163180 UbmLuqulluir funqnL{LrL1 O 1 59"4.5d11, q< d bLnp 9993.33 150 1 499000
65 44'163180 UbmLrrlLullLu0 funlnL{tr! O 1 33"4dr1, q< dburp 7980 120 957600
66 441 63180 UburLuqLr!Lu[r fu nqnt{Lut1 O 1 1 4"4d r], q<

Ll bLnp 6658.33 120 799000
67 441 63 1 B0 UbmLurluQtu0 funrlnL{LuL1 O 1 08"40r1, cI< d bLnp 6430 600 3858000
6{l 44163150t1 UbmurlLuLlLu(l funlnL{u! O 1 0B.4dd, q< d bLnp 6387,52 1218 7780000
69 44163180 JbmuqulQu:0 funqnL.lLuLl O 89-3LI d, q< d hurp 4090 120 490800
70 4416318012 JbmLurltullLu[r lunrln LltlL] O 89"3U rl, q<

LI bLnp 388't .2s 240 93 1 500

71 44 1 631 80 JbLnLuqLu!u:tr funqn L.[tu! O 57"3d 0, q< LIbLnp 2516.67 60 151000

77 44163'180 JbLnLuquQtutr fu nqnL{Lr! O 42"31I rl, q<
Ll bLnp IOOJ,JJ OUU 1 1 30000

73 44311210t1 UhmLurlLrLlLutr uutr L1n L 0 LuQ 45 I 45 I 4[[ q<
Ll burp 1666.67 150 250000

74 4431 121A UbmLuqu!u[r ur0Q1nLtrLu! 45145146n UU dbLnp 2130 30 63900
75 441 18310 't)nqqLuu'rjLr,r 1a[1abq 1.2tl /1 dr) UU hulLr 1 5650 4 62600

76 4433 1 300 equuluup lLUlnLUO q<
Uq 809 4000 3236000

71 4433 1 300/ 1 tqLulLup 2r,u1pLld UU !q 840 500 420000

7e, 44163180 ULLnLuqLu!Lutr fu nqn(u! 40.20"21I d q< d bLnp 1 500 12 1 8000

7S 441 12280 qn[quLntr hbdlr.ltl q< dbmn 7666.67 12 92000

M



BO 441 63 1 B0 (b0uujLu0 dbtnurryr-u pLrpdLu! O 57"3110, 1-'1 .5U, +100 q< h uuur 5'1

8,1 44163'180 (b0tuulLu0 dbururlLu pLupdu! O 57.3r1[, '] .5"1.5r1, r.1O(i q< h urur 789

82 441631 B0 (btrruulLu0 r.lbLnuryLu pLupdur! O 57-3d0, 1,5"2d, +100 q< huur 306

B3 44163'180 (b0LuulLutr UbulLr-rruul pLupdLuQ O 57-30d, 2"1 Ll, +100 q< hum t6

84 441 63180 (b0uupuI dbLnuuryr-u ptupdLuQ O 57.3r1d, 2,5"1,5 r], +100 q< hLum 393

B5 441 63180 (b0Luu1Luo dburturyLu pundurtl O 57"3110, 2.5"2.j [, +10o q< huur 21

B6 44163180 (b0tuultutr LIburr-uryLu pLrpdLu! O 57.3ri11, 3.5.1.5 d, +100 q< huun A6

B7 44163180 (b0Luuluu0 dbururryu pupdruQ O 57.3dr1, 3 5.2 511, +100 q< hLuLn 21

BB 44423220 Shtbu!nqhll urumhdu[r UU hum 1 70500 1 1 70500

BS 3834'1 130 Sbumhp-t-t1b2 q< hruLn 9333.33 15 1 40000

1
09 1 32200 Pbtiq[0 nbqnLgLup tu6 thmn 465.3 1 5000 6979500

2 09 1 34200 r)[qb1u1[0 (unhllrp bu6 thLnn 413 24000 99 1 2000

3 941 1410 (hqnLQ quq tJu thmn 240 100 24000

4
241 1 1 180 Ap{Lrdfrtr uu pLu1n0-huur 3600 80 288000

5 34141160 (npu,rurLl u[r d bpb0 LL.t q< hurm 44 1 50000 1 44 1 50000

ULILnnquhbuurud urubp

1
3435 1 400 U0i{tu11nr1 7.00 R16C 115/100 url hLlur 56700 4 226800

2 3435 1 400 ULLf Lurlnq 215175 R-17 ,5C UU huuur 78700 2 157400

3 3435 1 400 U0L{Lu4nq 195/70, R15C cI< hum 35700 6 214200

4 3435 1 400 Utrt{trqnrl 21517 5 R-17,5C q< hurur 78700 10 787000

5 921 1610 ([r4put{1[11 lnLq q< thmn 600

6 9134100 rlfqh1Lr.rlfrtr 
2rundhlh 1n Lq 1 5W4O q< thuln 100

7 9134100 r)[qb1Lu1[0 2L!ndhth Jnrn 10W40 q< thmn 150

t-]
921 1 '1 30 Supd[1[ ]nrrl 20W50 q< thmn 50

o 921 1 100 ,Lr,rndhth lnLq 10W40 q< thuln 50

10 921 1 500 .lIu!nqItt q<
thLnn 20

11 31431100 .rnLmurqlliu,rlh0 duupmQng 75A q< hLuLn 2

12 31431100 rnLLnuLl[1ru1[tr dr-upLn!ng 100 A q< hLr.tLrl 6

13 31431100 !nLtnLLr![11u1fltr duupmQng 140 A q< hLrLr 70000 2 1 40000

14
092 1 1 650 UpqblLulltlLu0 hbqnLQ DOT-4, q< huLn 15

S0tnhuulu0 uqpLu0pirt-p

1
3983 1 000 StrLnbuLu!Lu0 uqpu0ptrbp UU 4nLud 200000 1 200000

2 39831 28 1 Upp[2 {u$$ul,rLIurtr 40.75 UU hum 480 20 9600

3 3983 1 283 Cnp n.ricrofibra 30-30uti, thuur UU huLn 300 20 6000

4 3983 1 283 2Luuiu\lr 2np B0-50uil UU hum 1 350 12 1 6200

5 3983 1 283 2.urururLllr 2np 50" 100urf uu huur 440 15 6600

6 39831 245 lhrlnr\ odrLrn l{au cag 5[rtn1r UU htuur 2200 c 6600

7 3St\3124511 2hrpt\ odr.un Meura 5flrurp UU huur 1200 3 3600

B 39831245t2 lhlnr\ odurn ['LAMINGO 5$mp UU hLuu 2950 2 5900

o 3983 1 245l3 2.hr1nrL1 odtun ELVI 5ilrurp UU hLum 1750 I 1750

10 39831 280 ULrl u \ [L L plr 1t[iu giltuh utlru Lr; I(a nm 500t[1 ur.t hLrm 460 10 4600

11 3983 1 280 Uu1tr\lrLhpf 3[LugrlurL uLlrnh3 lViev.ra 500Li1 ut.l huLn 340 10 3400

12 39831 230 [Jtlrut3 Lrurhirurhqn r1 g r[rupp[rprr Sanita 500r[1 UU hLuLn 1260 5 6300

13 39831247 Zhrlnr[1 Donrestos UU hluu.r 900 5 4500

14 39831247 t1 Zt r1nrL1 urfuutu htLrtr rtrl Y rerrox 900il1 UU hLuLn 1260 7 8820

15 3983 1 240 Qn2f r.ulr,rurur Ittutrr.ul Comet 475q1t UU hcuLn 490 10 4900

16 39831 230 !nlnLq[lrhp]r rlurppilurh tlrn2lr Bagi 6009r UU hutn 2950 2 5900

h



17 39831247t2 U'tLrppilr-uL hhlnrll I UU huurn 950 4 3800

1t) 35831247 t3 U'r.upptlurh hhr1nr.\ 1l.uti]rLrurrn L[ruppi[urh h[rinr\ I 1]rurp UU hurr 1240 8 9920

19 398 1 1 300 O4urpupilhgnrgfr2 UU huLn 420 6 2520

20 398 1 1 300/1 Orltu purpL[hgnrglr; UU huuLn 480 6 2880

21 398 1 1 300/2 Orlur pr.u pL[ hgn r-gfr2 UU hutLn 750 6 4500

22 3983 1 240 CLU{h1 1$up UU hLutn 110 25 2750

23 39221490 Uttl r.rr-[rq yLlugr[tulr I 0huur UU hr-um 340 4 1 360

24 39831242 I-L[urgpI Lfrn2f 400qp UU huur 390 2 780

25 331 41 300 lhnLr.rg mhurhuur Irutr nhtnf hh UU huLn 580 B 4640

26 39221420 2uruluLl]r |unqur truLl UU huLn 3700 4 1 4800

27 39835000 Zruunllfr rlrulm UU hLLrrr 1 900 4 7600

2B 39836000 U,L{h1 Elnur I UU hr"um 1200 6 7200

29 3953'1 600 U.nnnplr qnpq 50-80utl UU hLULn 2550 3 7650

30 39839200 .).nqurlalr rrlluruurrlLrrrrL I l0trti UU huLn 1250 3 3750

31 33761 100 ,Qurclupr,rrh]r pnrqla \lrLru \f UU huum 140 200 28000

32 33761 1 00 9nrqtupurhir 1auu11a UU hum 280 20 5600

33 1 964 1 000 UrlpI uultl pur\351'30hur ur UU huLn 620 40 24800

34 39224331 'Inrllqluruudurut 81 uu hLu ul 560 3 1 680

35 3983 1 240 dtuLlbt 1 t uu hLum 135 10 1 350

36 24451141 Utttnqbt 250rlt UU htum 830 55 45650

37 331 41129 'lfrdLr! bp!2bpLn nbLn[0b luqbpnL{ UU huum 15 200 3000

3B 41110000 UupnLp gnrp 19 1 UU huur 17s0 100 1 75000

Qptuub0lurl.1urlfrtt uqp u0p0 bp

1 30 1 90000 apLrub0ltullullrtr 1u11 uqpLu0ptr bp tilI 4nurd 50000 1 50000

2 34197622 Io'nrr1p A4 B 4uru UU hruLn 1700 200 340000

3 30197622 Orulp A4 A 4uru UU hLrLn 2300 20 46000

4 2491 0000 Unulrl& 50qp UU hLum 150 10 1 500

5 34197234 I? r1purqLuLLu\ nhqiruurp 2or}Lr\nr[,ul-r UU huLn 670 120 80400

6 30197231 Iuil 1 iqn$lp[1htr. A4, 1 00hurLn UU hLlur 910 20 1 8200

7 39203320 Opurgnrjg u1 uur[ 2022p.htu rlrup UU huLn 2400 12 2BBOO

B 30192122 9.pf2 qhlf \u {np \unqnrlur,u[1,\urp[f p UU hruLn bU 200 1 2000

I 30192128 Q.p lr1 q h 1ur1 lrtr \ ru rtl u r1 ur, \ ur p t[]rp, u [r UU huLn 120 1F 3000

10 30152128 q'nh: UU huLn 660 5 3300

11 2491 0000 Unu]rLrd, 100qp UU hLr.rur 370 20 7400

12 301 97 1 00 Ur.nhq thnlr ruutlh[:p N 1 0, 1 000hurur UU hLrut 75 40 3000

13 301 99420 O hpla[\LrL p tr2n Ltt]r90-90tiil, 870hr-uur UU huur 750 4 3000

14 301 99420 fdnr-11p h2nullr 76'76ttti,400hurur UU hum 1 050 7 7350

15 35821 400 l1 Ltlhuur\r.Lrtr qpn2 2-1rt UU hLuur 3800 2 7600

16 22811110 Cqb p Luun[ L{ rI uurl r-u [r UU hLu rn 2500 7 1 7500

17 22811110t1 OulbnLuLnnq duurlul UU hL!ul 2500 4 1 0000

1B 2281 1 1 10 SbrluuLI tuuhp fr hurugb0 bpI qputr gLl LuI d uuurlru0 uu huur 2500 5 '12500

19 22811110t2 S brlLutl Lu ub p fr huug b tr b p fr qn u tr g d urO d tuml u[r UU huLn 2500 10 25000

2A
2281 1 1 10

! uupquuqpbpI L LlLupqur4p n Lplnr 0 0 bp I hLu2{r-urrLl u0
Ll L-r.rurl Lu[r

UU hu.rLn 2500 3 7500

21 2281 1 1 10 LlpLupir bpI qpLutrgd Lutr Ll ruur]LLr[r UU huLn 2500 7 1 7500

22 2281 1110t3 rtpup0bpI qnLU0gdLU0 durmlutr UU huutn 2500 5 1 2500

23 2281 1 1 10 QpLuubtlluu!Lu1f0 q[pp UU hrum 2s00 7 7500

24 2281 1 11014 apuubtrluQul[0 qIpp UU huLn 2500 5 2500

?-5 2281 1 1 10 (pt-r,thLr0qLu{npn r d 0 bp I rl Lur,nlLu[r UU huu.r 2500 7 7500

26 2281111At5 (pLuhLu0qu{npn L LI tr bp[ 0 LuLnlutr UU hLuut 2500 7 7500

?t 2281 1 1 10 qnuUtnp0 bnll uLnn rqrl ur[r d urmju.ltr utl hurut 2500 3 7500



2B 2281 1 1 10 qnn LpJnrtr trbnh LI Ln[g d utnlur0 UU hr-uLn 7400 6 44400

29 22811110 QpnLplnL00bpfr b1[g rlurLnlutr l.Ju huLn 7400 a 22200

30 2281 1 1 10 Ubppfl0 Ll'ruuLnuprlpbp[ [ uuurlLu0 UU hLuur 7400 2 1 4800

31
2281 1 1 10

Lbpp[[ L Lu0hLuLnuL1Lutr frptlL{LuL1u0 Lu!Lrrt pI hLu2L{unLIu0
rltuurltu[r ur..l hLum 7400 1 7400

32 2281 1 1 10 (udLrfunLd 0 hpfr qputr gtl Lrtr dum]Lutr ur.l huuur 3500 o 31500

33 22451244 tl!uu1Lr!Lrtt fr d [9nL t1 tJu hLrm 150 30 4500

(ur 0 tu 1.1 u p q1 u.1 [ 0 Ln b fu 0 fr 1.1 u1 fr d b np p b p n L r)

1 324213AA nLr.rn r pbn UU 4pruLl BBOO 1 8800

2 30232110 CLL:qtlLu$nL0QgIn0ur1 mq[1 uLupp UU 4ptuLI 260000 1 260000

3 30232 1 30 Qnr0uLlnp u1uth, uunB UU 4nuLI 1 58000 1 1 58000

U2[uuLnu0B0bp

1 45221142
< U p p Lrrl 

1 
n L1 u > 0 C O - [ ru L{ tn n 2 Lu lr Lr-l uJ ur tr ur r-u p r-u6p fr

hItl0 u0 npnqnr r)
EU 4p LurI '143490000

1 1 43490000

Ounu;nLplnL0[rbp

1
6531 1 100 t1b!mpul 0 bpq[Lu[r LI LumLLrQuprupn LrI UU \{u/d 48,06 1 9925000 957595500

2 6421 1 100 (bnufunuLuQLuq q<, uu qnLuI 4 1 59998 1 4 1 59998

c 6sl 1 1 100 udblnL 9pI dr-uLnuuQuupupnLr) UU luu 200.47 2400 481128

4 6s2'1 1 100 Ftr uL1Lr0 quqfr 0 LuLnLuLlu-tp r-up nL Ll UU f.r d 139 9000 1251000

5 641 1 1200 OnumLrl[tr dunu.tln L 1a1n L[r[r bp UU qnrud 500000 1 500000

6 9051 1 1 20 Ur1 p Lu h r-u 0 n L p1 r,u [r d Lr.r p LUJ n r [a] n r [t 0 b p I d L n p p b p n L Ll UU 4nuLI 1 90000 1 1 90000

/ 65000000 Cb0pf uLqLuuL-LtpQrIul[r dunLuln L1aln L0 UU qn LUd 96000 1 96000

B
7 1631 120 UQunLlhpbtrtr0hpI Lntrfu q0trnLr) UU 4pu-rd 800000 1 800000

I 805 1 0000 ULd L r-uLlLuqLII rltin LUulruurnLUuLnn r d ut.t 4n Lld 200000 1 200000

10

665111B0
Spu0uqnpurLllhtr rlhgnglbph u.lLunmu4hn
LULr.lLr.rhn quqn n Lplnr tl

ULI 4nud 1 350000 1
'1350000

11
63721180 S p u 0 u q n p ur r-u1 h 0 r.l h9 n q tr b p fr 0 Lu L{ h q L! g h n tr

dLunu-r1rLplnL00bp
UU 4n urd 9 1 2000 1 I 1 2000

12
6372118011

Spu0uLqnpmulh0 tlhgngtrhph trurqhqughntr
6Lunu.;n Lpln L 00 bp

ut.t qn Lu Ll 32000 1 32000

13
1921 1150 Un L4[Lrnp LrL1r,u0 dLunuln r pln L0 [r bp q< 0nu0 2000000 1 2000000

14
7 13s1s40 S b ! [ [ L1 Lu ! Lu 0 h u L] n I n r lr1 LU [r d Lu n Lul rr L 

1a1 n L [r 0 b p FU nnLld 800000 1 800000

15
98111140 ( b q[ 0 tr ! u1 fr tr h u ! n 11 n L p1 Lu tr 0 r-u n Lul n L yal n L 0 L b p UU 4nLud 854000 1 854000

16
12400000 hIbtnp0hmLul[0 [1uqh 6uunLulnLplnL0 UU 4nLUd 960000 1 960000

17

72211 124
< u.r 0 i! q ur n q, urj fr 0 m b Iu tr n q LUJ h d p Luq p LL-r1 [r tr r-u q Lu h n Q d u 0,

[ 0 m b p fi bLn LL.r.1 [0 ! uuq [, I P h b n Lu [u n u Lu1[ ti t1 Lr qI
uquuup LlLI Lu[r duunLuln L 1a1n L [i [r bp

UU 4nuI 540000 1 540000

,18 5051 1900 Juln Lfu Lul[0 qdbp I t uLunpbnh r"lbp LuI npnqn LrJ q< 11p r-u L1 7200000 1 7200000

19
50530000

U{ m n LI b p b tr Lu 0 b p I Ln b fu 0 [ ! u: ! Lu tr u u1 ur u Lu p L1 Ll u ir
6unutlnrtatnt00bn
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